
Indicative Endings Summary

Primary (Unaugmented)

Present Active Future Middle Perfect

Contract Verbs Contract Verbs reduplication

a e o * a/e o Liquid 1 2st nd

o — ÷ w w' w' w ' sw hsw wsw w' ka a

e " ÷ ei" a/'" ei'" oi'" sei" hsei" wsei" ei'" ka" a"

e i a/' ei' oi' sei hsei wsei ei' ke e

o men w'men ou'men ou'men somen hsomen wsomen ou'men kamen amen

e te a'te ei'te ou'te sete hsete wsete ei'te kate ate

o nsi ÷ ousi w'si ou'si ou'si sousi hsousi wsousi ou'si kan an

Present Middle/Passive Future Middle
Future

Middle/Passive

Contract Verbs Contract Verbs reduplication

a e o * a/e o Liquid

o mai w'mai ou'mai ou'mai somai hsomai wsomai ou'mai mai

e sai ÷ h/ a /' h '/ oi' sh/ hsh/ wsh/ h /' sai

e tai a/'tai ei'tai ou'tai setai hsetai wsetai ei'tai tai

o meqa w'meqa ou'meqa ou'meqa someqa hsomeqa wsomeqa ou'meqa meqa

e sqe a'sqe ei'sqe ou'sqe sesqe hsesqe wsesqe ei'sqe sqe

o ntai w'ntai ou'ntai ou'ntai sontai hsontai wsontai ou'ntai ntai

Future Passive

1 2st nd

qhsomai hsomai

qhsh/ hsh/

qhsetai hsetai

qhsomeqa hsomeqa

qhsesqe hsesqe

qhsontai hsontai

* The s will combine with the ending consonant according to the square of stops when the verbal stem ends in a stop.
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Secondary (Augmented)

Imperfect & 2  Aorist Active 1  Aorist Activend st

Contract Verbs Contract Verbs

a e o * a/e o Liquid

o n wn oun oun sa hsa wsa a

e " a" ei" ou" sa" hsa" wsa" a"

e — a ei ou se hse wse e

o men wmen oumen oumen samen hsamen wsamen amen

e te ate eite oute sate hsate wsate ate

o n wn oun oun san hsani wsan an

Imperfect Middle/Passive & 2  Aorist Middle 1  Aorist Middlend st

Contract Verbs Contract Verbs

a e o * a/e o Liquid

o mhn wmhn oumhn oumhn samhn hsamhn wsamhn amhn

o so ÷ ou w ou ou sw hsw wsw w

e to ato eito outo sato hsato wsato ato

o meqa wmeqa oumeqa oumeqa sameqa hsameqa wsameqa ameqa

e sqe wnto ounto ousqe sasqe hsasqe wsasqe asqe

o nto wn oun ounto santo hsan wsan an

2  Aorist Passive 1  Aorist Passivend st

Contract Verbs

hn qhn hqhn wqhn

h" qh" hqh" wqh"

h qh hqh wqh

hmen qhmen hqhmen wqhmen

hte qhte qhte wqhte

hsan qhsan hqhsan wqhsan

* The s will combine with the ending consonant according to the square of stops when the verbal stem ends in a stop.


